Work Sheet—Show your work to problems here.  Use either equation editor in Word or PowerPoint and paste a slide.  Label the problem number.

Problem #4

Problem #6

TEST QUESTIONS
1. Consider the following the graph below. 
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 Which of the following would cause quantity demanded to change without changing the demand curve? 

a. A change in income.

b. A change in the price of the good.

c. A change in tastes and preferences.

d. A change in the price of a substitute good.

2.  Two economists are debating whether or not to remove a tariff on luxury vehicles. They agree that consumers will benefit by $5 billion and that the harm done to domestic businesses and workers will only be $4 billion. One argues these facts make it obvious that the tariff should be removed. The other disagrees. What would be a likely reason for the second economist to disagree? 

a. There is no good reason because the benefits outweigh the costs.

b. He is using a different economic model to understand the world.

c. He has a different interpretation of the empirical evidence.

d. He has different value judgments about the weights that should be put on the benefits and costs.

3. Refer to the graph below. 
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In the early 1990s, mounds of newspapers and worthless plastic piled up at recycling centers. As the nation's economy continued to grow, increased demand eliminated the mounds and turned them into shortages. In the mid-1990s, as recycling became more popular, the mounds of recycled materials returned. What graph best depicts these events on the market for recycled materials? 

a. Price remained constant at P0. Quantity demanded first rose, while supply remained constant; quantity supplied then rose, while demand remained constant.

b. Price remained constant at P0. Supply first shifted from S1 to S0 and then back to S1.

c. Price remained constant at P0. Supply shifted from S0 to S1, then demand shifted from D0 to D1.

d. Price remained constant at P0. Demand shifted from D0 to D1 and then back to D0.
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4. Refer to the table above. The marginal physical product of the sixth worker is _____ and the average product of six workers is _____.  Remember to show your work.
a. 15; 6.

b. 6; 15.

c. 13; 2.

d. 2; 13.

5. Owen runs a delivery business and currently employs three drivers. He owns three vans that employees use to make deliveries, but he is considering hiring a fourth driver. If he hires a fourth driver, he can schedule breaks and lunch hours so that all three vans are in constant use, allowing him to increase deliveries per day from 60 to 75. It will cost an additional $75 per day to hire the fourth driver. The marginal cost per delivery of increasing output beyond 60 deliveries per day: 

a. is $0 since Owen does not have to purchase another van.

b. is $5.

c. is $75.

d. cannot be calculated without knowing Owen's total fixed costs.
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6.  Refer to the graph above. The profits earned by the monopolistically competitive firm represented in the above graph equal: 

a. $15.

b. $45.

c. $120.

d. $0.

7. Investment in capital goods is one way to increase the standard of living in the future. Investment in capital goods, however, means that we must forgo consumption today. One of the tradeoffs facing an economy is consumption today and consumption in the future. The following table presents such a trade off. With this information we know that the opportunity cost of which of the following is the greatest? 
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a. Increasing current consumption from 750 to 800.
b. Increasing current consumption from 650 to 750.
c. Increasing current consumption from 600 to 650.
d. Increasing current consumption from 550 to 600.

8. Mary buys cell-phone services from a company that charges $30 per month. For that $30 she is allowed 600 minutes of free calls and then pays 25 cents per minutes for any calls above 600 minutes. Mary has used 300 minutes this month so far. What is her marginal cost per minute of making 2 more calls lasting 10 minutes each? 

a. $2.50

b. 25 cents

c. 4 cents

d. zero

9.  The best example of a positive externality is: 

a. roller coaster rides.

b. pollution.

c. alcoholic beverages.

d. education.

10. Jack Sprat could eat no fat, his wife could eat no lean. And so betwixt them both, they licked the platter clean, which of the following is true about Jack and his wife? 

a. Marginal utility of fat is negative for Jack; marginal utility of lean is negative for his wife.

b. Marginal utility of fat is falling for Jack; marginal utility of lean is falling for his wife.

c. Marginal utility of lean is negative for Jack; marginal utility of fat is negative for his wife.

d. Marginal utility of lean is rising for Jack; marginal utility of fat is rising for his wife.

11. Assume that in Canada the opportunity cost of producing 1 television set is 2 bushels of wheat. Assume that in the U.S. the opportunity cost of producing 1 bushel of wheat is 2 television sets. If these two countries specialize according to comparative advantage and then trade with one another, then: 

a. Canada will export both televisions and wheat.

b. Canada will export wheat and import televisions.

c. the U.S. will export wheat and import televisions.

d. the U.S. will export both televisions and wheat.

12.  You bought one share of McDonalds stock for $10, one share of Coca-Cola for $15, and one share of Pepto-Bismol for $20. Currently, each stock is priced at $15. Assuming no tax issues and you cannot predict the price of either in the future stock, if you needed $15, which stock would you sell? 

a. McDonalds.

b. Coca-Cola.

c. Pepto-Bismol.

d. It doesn't matter which one you sell.

13. Mainstream economists tend to focus on: 

a. the size distribution of income, while non-mainstream economists emphasize class and group structures.

b. class and group structures, while non-mainstream economists emphasize the size distribution of income.

c. the control that the upper class has over the decision process and the political process.

d. the role of special interests in shaping government policy.

14.  Refer to the graph below. 
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Suppose this represents a monopolist with a patent. Up to how much is the monopolist willing to spend to defend its patent? 

a. Area A

b. Area B

c. Area A and B.

d. Area D.

